Biology 3201 Worksheet #3

Complete the following worksheet and place in your portfolio

  In mice, black fur is dominant to white fur.  What would be the expected genotypic and phenotypic ratios resulting from the following crosses?  A) homozygous black X white  B)  two heterozygous black   C)  heterozygous black X white.

  On the planet Htrae there exists a creature that has blue horns (B) dominant to orange horns (b).  Two blue horned creatures mate and produce six offspring.  Four of them have blue horns and two have orange horns. What are the genotypes and phenotypes of all individuals?

  In pea plants, tall (T) is dominant to short (t).  Two tall plants were crossed and produced 296 tall plants and 98 short.  What were the genotypes of the parent plants?  What percentage of the offspring were heterozygous?

  In Huskies, brown eyes (B) are dominant to blue eyes (b).  A breeder crosses a brown eyed male with a blue eyed female.  She has a litter of eight pups, all brown eyed.  What are the possible genotypes of the parents and pups?

  The parents of a blue eyed women were both brown eyed.  She marries a brown eyed man whose mother was brown eyed and father was blue eyed.  They have a blue eyed child.  Diagram this information and give the genotypes of all individuals.

  Two heterozygous individuals mate and produce five offspring all exhibiting the recessive characteristic.  How could this occur?  What is the probability of the next offspring showing the dominant trait?  What is the probability of the next offspring showing the recessive trait?

  In snapdragons, the gene for red flowers (R) is incompletely dominant to the gene for white flowers (W).  The heterozygous condition results in pink blossoms.  Give the genotypic and phenotypic ratios for the following crosses:  (A)  red and pink  (B)  pink and pink  (C)  pink and white.

  In pea plants tall plants (T) are dominant to short (t) and yellow peas (Y) are dominant to green peas (y).  Two plants are cross bred as follows; TTYY X ttyy.  What will be the genotypic and phenotypic ratios in the first filial generation?  What will be the genotypic and phenotypic ratios in the second filial generation?  What will be the genotypic and phenotypic ratios in a cross involving an individual plant from the first filial generation with a plant TTYy?

  In guinea pigs, black coat (B) is dominant to albino coat (b) and rough coat (R) is dominant to smooth coat (r).  A breeder mates a male with four females.  Female #1 - black and rough coat gave birth to an albino rough coated offspring.  Female #2 - albino and rough gave birth to a black smooth coated offspring.  Female #3 - black and smooth coated gave birth to an albino smooth coated offspring.  Female #4 - albino and smooth coated gave birth to a black rough coated offspring.  What are the genotypes of all individuals?

